
Write a hook relating to Romeo and Juliet.
In writing the term hook refers to the first one or two sentences which serve as an introduction as well as to help the reader decide whether he or she wants to
continue reading a given text or not. In other words, a hook helps to grab the reader’s attention. There are several ideas that can be used as hooks, for instance:
literal Quotes, quotes from Famous People, Anecdotes, questions, statistics, and thesis, among many others.

For the particular case of Romeo and Juliet, the tragedy written by William Shakespeare, an example of hook could be as follow:

"As its own author William Shakespeare claimed - 'For never was a story of more anguish than this of Juliet and her Romeo.'"

Tokyo, the capital of Japan, is located on which of Japan's islands? A.

Hokkaido

B.

Honshu

C.

Shikoku

D.

Kyushu
How to turn -2=-5x-y into slope intercept form



A full truck weighed 3 2/6 tons. If the truck was only 4/6 full, how much would it weigh?
The admission to the fair is $5 and the cost per ride is 50 cents. If his parents give hime $20, write and solve a linear equation to find how many rides he can go
on.
What is the surface area of a cylinder with a diameter of 8 centimeters and a height of 12 centimeters? A. 1,005.71cm
B. 401.92cm
C. 704cm
D. 352cm
Since its founding, the United Nations has been involved in 69 peacekeeping missions and has taken part in hundreds of peace negotiations. Some have been
successful, but many have not. There are many areas of the world where people remain at war despite UN efforts to help them settle their differences peacefully.
Given what you have learned in this lesson, do you think there is a role for the United Nations as peacekeeper in today’s world? Why or why not?
Based on the data table provided below, how many people would we expect to pick a snake as their favorite animal if 440 people were asked their preferences?
Favorite Animal Number Panda 13 Snake 10 Tiger 17 Dolphin 15 104 80 136 120
How did changes in people’s living arrangements caused by the Agricultural Revolution influence the rise of industrialization in Britain? A. The availability of
cheap labor made industrialists unwilling to invest in technology.
B. The increase in the rural population encouraged manufacturers to move to rural areas.
C. A large labor force that had left the villages was available for work in city factories.
D. Surplus grains were used as raw materials in fertilizer factories.
The thermal energy of matter depends on how fast its particles are moving on average, and this is measured by ________________________ a) speed
b) energy
c)temp
d) none of the above
Why do civilizations borrow elements from earlier civilizations?
Which of the following are all potentially hazardous foods?
Which compound type is formed when two atoms share two electrons
An american writer is the eighth child of georgia sharecroppers
Who is the introduction to the constitution
What is the GCF of 56 and 21?
What is the difference between a Trojan horse and a virus in computer terms?
What’s the simplest form of the fraction 85 over 204
Question 6 (1 point) No tengo dinero para usar el teléfono. Necesito hacer una llamada por
point)
da por --
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